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���dت   1ــ  3N�eد ا
(α  ت�d��N�eد ا
  β−و)

 �K��x  وy  ت�d��N�eد ا
(α  ت�d��N�eد ا
  : β−و)
238 206 4 0
92 82 2 1U Pb x He y e

238 206 4x x 8

92 82 2 8 y y 6
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دي ( TN<� :  
t=7,45.107ans  .  

 �����3  
  .  y=2و  TN<� :x=38 (���ن �nدي =�<r' )?R  1ــ  1
�>�ر  2ــ  1�eا اCة )� ه
  : M]�ب ا�>�(� ا�����

( ) ( ) ( )( )
235 1 139 95 1
92 0 54 38 0

2
n
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U n Xe Sr 2 n

E m Xe m Sr m m U .c

E 200,6MeV 3,21.10 J−

+ → + +

∆ = + + −

∆ = − = − 

235�� ا^ورا��Oم  M1g]�ب ا��
ة ا�����O ا��ID �?V�[� 9��V آ�?�  3ــ  1  :  

�?� أن � :P
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=
∆

�� أ^ورا��Oم وه1g  9ا�>�(� ا���O>AW  �V;��� 9 أن   :  

 J��O) ��
ة ���� Mة وا
�11�?� أن ���Q E 200,5MeV 3,21.10 J−= −∆ =  1gو��?� آC�� أن  =
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ة ���( )A
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t
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ة �� ا^ورا��Oم M;� )� ���� ��اة وا����>�(� ا�ة 238ا
��<�ل إ��M �)�* Rآ�VN[�K� �O ا���اة ا�����

 �ZO)
αوا� 
ة ^�a[M J ا���>�Oت أن ه��ك _�ء   Uزا �)�* R?( �=��� ة
��MI� �K أن ا���اة ا�����
 TU�)
�� ا�α  TU�)
?� ���rZ�ا �O<�آ�>�(� ا�ا �� ��nأ �Oآ�M �)�<A ��N��α '�ا���V�K�� 9 أن �;

 �OL�L^ا �V���M 9= ر��م���ة ا
�Y<q ا�>�( ��� �
و�K�Lن ا�<Or?� ا�>� �O)�CVا ا����(' ) (� أ�
   : ا���وي )?R ا��K' ا����9 

( ) ( )C CE E E E Th′∆ = α + +  

Th: ا�<��ظ آ��O ا�<�آ� IDل ا����)' ا���وي  Th0 m .V m .Vα α= +
� � �

  

 J_���<�ر  R?( �)I���آ]�ن ( �]YZ ا���أي أن )  ��اة ا���ر��م و��اة ا��O?OVم �KOLن ��<�Oه�� 
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α α α α
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∆ = ⇒ − = α +  
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 (��O  2ــ  2�
>�m∆ ���
�Y<q ا�>�(� � a[M  

( )

( )

                 =

Cmax C1

2
Cmax

2 29

E ' E ( ) E 0,047MeV

m( )
E m.c E 1 E '

m(Th)

1,017 4,195 0,047 4,313MeV

m 4,313MeV / c 1,150.10 kg−

= α − α =

 α= ∆ = α + + 
 

× + =
∆ = =

 


